HEZTIO-T X3INFXF @13 BF#HEt 1 /5

il EREFA605 (A2 EAZER)
B (a,) BHET, AELOEERFI LT 5, [a,) ORE S 30 HE TOMERD &,
%7, WENSENEETOSHT, a, DEN 3 DIEHTH2EDOME KD X,
AHMEBTHZEHET {a,) (n=1, 2, 3, ) ITBVT,

3
asg+a;+ag=3, ag+a10+a11=—§

7 1

9
MY ZD, ZDLX, ay= THY, Sa,ap = TH5,
k=1

S(a)=a+2a’+3a*+4a*+ - +100a'™ B L ¥, S(a) KD &,
KD LS, BRE=ZAFOIARICIN, =ZHFD
NEIDHZRES. ZAFRD 1ZIZHENZERD

B 30 D& &, BADEBUX THs.

0 B BREET B, ROMERD, FEHMRL - TES &
2:2n—1)+4-2n—3)+6-(2n—5)+ ------ +2n-1= TH5,

(6] ERid o m EDOELLL, 3, 5, - , 2m—1DHNG, B3 2008 > THEE
65, 25U TELNG ,C, BY OBTNTORME KD &,
RDEZHIZE>TEDSNDEF (a,) 3D B,
a=1, a,.,=3a,+2 (n=1, 2, 3, - )

Z DRG] (a,) D—BE a, = Thd. £F2, |a,) OWENSE n HE TORE
! TH%b.
B {a,} 13T U TROFALAARY LD & F B,
01:1, a2:3, an+2—5an+1—|—6an:1 <7L:1’ 2’ 3, ...... )

(1) B clZWHULTb,=a,+c CEDSNEF(b,) 2E %5,
byiy—5b,,146b,=0 (n=1, 2, 3, -0
/29 c DIEEZRD X,
2) a,% n ODRATEYE,
@ 1) REEDEKLTD, kOLEDLIREIZNUTE
(B+1) 'R — kY k—1)'=ak"+bk° DRV LD LD RE a, b &RD L,

@ SR +E) ERDE,

k=1
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AT 55 30 E COM 1950, a, OIEA 3 DIEFETH S & DO 1680

e a=10Dk %, S(1)=5050

a—101a +1004 12

a#l 0)2:%, S(a>: (1 )2
—a

fRE 378

S %n(n +1)2n +1)

(6] @@= %m(3m3—4m2+1)
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B3 (a,) 1KOVET, AELOSEBFITHENG
a,=7+4n—-1)=4n+3
(a,) DHIEN 55 30 B TORIZ 30(“1;“3") = ST 1950
a,=3n+1)+n LEWRTXENS, a, DEN3DFEHTH D7D, n H 3 DREEK
ThhiEI v,
n=3m &§5& as,=4:3m+3=12m+3
EoT, (a5, HEEEIITHEME, kDB

_ 16(as+asg)  16(15+195)

4yt agt ety =08 J6ISEI9) g
FEHET (a,) DHEE a, RibE 7275,
ar®+arb+ar’=3 ar’(l4+7r+7r)=3 - @
NS ERAY9)5)
- a78+a79+a710:—% ® a78(1+1'+1'2):—% ------ @
@+D 75 73=—% B IZERTHENE 7= _%
, 1 1 3 _ .
£oT, 14+7+7 =1_§+Z:Z THEN"6, @ LY
rie(-3):3- 1
o 8 4 2
. 1 1 71
bf:i)"’)—t 0102079:a78‘1’2<—3>°<—5>: Z
9
Elakals—kZ01‘117"“12‘1164‘03“154‘ """ + agay
=a-ar®+ar-ar®+ ar®-art*+----- +ard-ard
_ s _l)Z_’fg
—9(ar) _9< =3
100
3] (i) a=10r%, S(1)=142+3+44-+100 =3 k= x 100 x 101 =5050
2
k=1
(ii) S(a)=a+2a%+3a’+4a*+ - +100q 1%
aS(a)= a’+2a+3at+ e + 994" +100a ™

L25<E (1—a)Sla)=a+a’+a’+a*+ - +a®—100q ™

ax1ThHdMN5

a(l—a'") 10041 — a—a'™—100a'" + 1004 1%
1—a - l—a

(1—a)S(a)=

_ 101 102
FoT S(a) = a—101a +2100a
(1—a)

BEHAMMATTEL=ZARICENT, 20 1LICHEAZBROELRIZ 27 THS.

D21z, RDDEHDEIE 1424 oee +27=%28=378
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2:2n—1)+4-2n—3)+6+(2n—5) + -+ +2n-1

— V2R — 2k — 1)) = S 4R+ 220 + Dk} = — 4 R4 220 + 1) k
k=1 k=1

k=1 k=1

_ _4%n<n +1)2n+1)+ 220 + 1)-%%(% +1) :%n(n 1R+ 1)

[6] RDBHEME S, &FTHL
{143454- +(2m—1)P=1243245%4 - +(2m—1)*+2S,,

AN 1%(2/@ 1)} —(2%—1)24+2S, e D

k=1

SV 2%—1 =4S 2—4S) 4+ 1

k=1 k=1 k=1 k=1
4% (m+1)(2m+1)—4-%m(m+1)+m
1
£oT, O»56
(m2)2=%m(4m2—1)+25m
Wz szém(3m3—4m2+1)

a,.1=3,+2 2EWTZL a,+1=3a,+1)
&-oT, 8Fl{a,+1} I3HE a1 +1=1+1=2, A3 DFELEFIT
a,+1=2.3""1
U7=M>T a,="2.3""1-1
7z, {a,) OVENSE n HE TOMIX

S ap= (23 1) =2.5 =]
k=1 k=1 3-1
1) b,=a,+c M5 a,=b,—c
Gpis—5an+6a,=1 &Y (byrz—)—5(bysi—c)+6(b,—c)=1
£-oT b,i0—5b, 1+6b,=2c+1

—n="3"—n-1

W ZIZ 2c+1=0 LMo T c:—%
<2> bn+2 5bn+l+6b —O )5_‘_'/7\'0)2 U (\_&\ﬁ/"d“é}:
Drio—2b,,1=3(b,1—2b,) - D
b”+2_3bﬂ+1:2<bn+1_3bn> ...... @

OPY) b,1—2b,=(by—2b;)-3""
@&V b,1—3b,=(by—3by)-2"""

_4_
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D&V b,=a,—= THZMS

2
1 1 1
h=a-5=1-3=3
1 1 5
be=t=y=3-5=3
UziioT
3 o1 3"
bn+1_2bn27°3 1:7
b, —3b,=1.2""1=2"1
-3 e 3r—2"
INEDBAEII Y b=
3"—2"+1

— l R N —
an—bn+2'CéF)E>7'Jb a,= 5

[9] ) (k+1)'k*—kYk—1)'=(k'+ 4>+ 6k°+ 4k + 1) k" — k*(R* — 4k° +6k° — 4k +1)
= kY (8k3+8k) =8k" + 8F°
oT, RDBIEMIL, 8k"+8k =ak’+bk> WITRTDOEDEE LIZDOWTHY I
DI THD,
U7=3-T a=8, b=8

LSy (8174 825 = L SV [+ 184 — kk—1)")

§k=1 §k=1

@ SY(kT+ k)=
k=1

(

-
R

T S+ 1'% =Rk —1))
=1

=(n+1)n*
50T B+ =5n+1)'n?
k=1



